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FOREST APPRENTICE EXAM HELD ON 14.10.2018 
 

MENTAL ABILITY SOLUTION 

 
1. What percent is 15 paise of 2 rupees 70 paise?  

a. 
5

6 %
9

  b. 
6

5 %
9

  c. 
3

9 %
5

  d. 
5

5 %
9

 

2 &gha; igrhtpy; 15 igrh vj;jid rjtPjk;? 

 a. 
5

6 %
9

  b. 
6

5 %
9

  c. 
3

9 %
5

  d. 
5

5 %
9

 

Explanation: 
2 rupees 70 paise = 270 paise 

Required %=
15 50 5

100 5 %
270 9 9

    

 
2. A bicycle marked as Res. 1,500 is sold for Rs.1,350. What is the percentage of 

discount?  
a. 9%   b. 10%  c. 12%  d. 15% 
xU kpjptz;bapd; tpiy &. 1>500 vd;W Fwpg;gplg;gl;Ls;sJ. ,jid &. 1>350f;F 
tpw;why; js;Sgb rjtPjk; vd;d? 
a. 9%   b. 10%  c. 12%  d. 15% 

 
 

3. In a college, 
1

5
th of the girls and 

1

8
th of the boys took part in a social camp. What 

of the total number of students in the college took part in the camp?  
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a. 
13

40
   b. 

13

80
   c. 

2

13
   d. 

8

13
 

xU fy;Y}hpapy; eilngw;w r%f Kfhkpy; 
1

5  
khztpfSk; 

1

8  
khzth;fSk; fye;J 

nfhz;ldh;. vdpy; mf;fy;Y}hpapy; fye;J nfhz;l nkhj;j khzth;fspd; tpfpjj; 
njhif vd;d? 

a. 
13

40
   b. 

13

80
   c. 

2

13
   d. 

8

13
 

Explanation: 
 Out of the 5 girls, 1 took part in the camp.  
 Out of the 8 boys, 1 took part in the camp.  
 Total = 13 part 
 ∴ 2/13 of total number of students took part in the camp. 
 

4. Which of the following diagrams correctly represent the three words English, 
Latin, Greek?  
Mq;fpyk;> yj;jPd;> fpNuf;fk; Mfpa %d;W thh;j;ijfis rhpahf ntspg;gLj;Jk; 
fPNo cs;s glk; vJ? 

 
Explanation:  Ans: D 
English, Latin, Greek are the three different languages. 
Suitable Venn diagram is fig: D 
 

5.  Which number is in all the geometrical figures in the following diagram?  

 
a. 2   b. 3   c. 5   d. 8  
fPNoAs;s glq;fspy; ve;j vz; midj;J tbt glq;fspy; ,lk; ngw;wpUf;fpwJ? 
a. 2   b. 3   c. 5   d. 8 

 Explanation: 
 Common value of Rectangle, Triangle and Circle is 2. 
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6. Area of a triangular garden is 800 sq.m. The height of the garden is 40 m. Find 
the base length of the garden. 
a. 20 m   b. 40 m   c. 10 m   d. 50 m  
xU Kf;Nfhz tbtj;jpYs;s Njhl;lj;jpd; gug;gsT 800 m2. mtw;wpd; cauk; 40 
m vdpy; mj;Njhl;lj;jpd; mb cauk; ahJ? 
a. 20 m   b. 40 m   c. 10 m   d. 50 m  

 
 

7.  Calculate the area of the quadrilateral whose length is 20 cm and perpendicular 
distance to the diagonal from opposite vertices be  
7 cm and 10 cm  
a. 160 cm2     b. 110 cm2  c. 100 cm2      d. 170 cm2 
xU ehw;fuj;jpd; ePsk; 20 nr.kP. vjph; nrq;Fj;J cauk; 7 nr.kP-k; kw;Wk; 10 nr.kP-
k; ,Ue;jhy; mtw;wpd; gug;gsT fhz;f. 
a. 160 cm2     b. 110 cm2  c. 100 cm2      d. 170 cm2 

 
 

8.  A room is 5 meters long and 3 metres wide.  The area of its four walls is 88 sq. 
metres. The height of the room is   
a. 6.5    b. 7.5    c. 5.5   d. 8.5  
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xU miwapd; ePsk; 5 m> mfyk; 3 m mtw;wpd; ehw;Rth;fspd; gug;gsT 88  m2 

vdpy; mt;tiwapd; cauk; fhz;f. 
a. 6.5    b. 7.5    c. 5.5   d. 8.5  
Explanation: 
The area of its four walls = Lateral Surface Area =  2 l b h   

 
88

2 5 3 88 5.5
16

h h m       

 
9. The perimeter and the area of a semicircle of radius 14 cm is 

a. 36 : 308  b. 72 : 308   c. 308 : 36  d. 308 : 72 
14 nr.kP. MuKs;s miu tl;lj;jpd; Rw;wsT kw;Wk; gug;gsT KiwNa 
a. 36 : 308  b. 72 : 308   c. 308 : 36  d. 308 : 72 

 
 

10.  Find the missing figure :      
9%of  ________ = 63 
a. 60    b. 70    c. 80   d. 65 
tpLgl;l vz;izf; fhz;f. 
_________,y; 9% = 63 
a. 60    b. 70    c. 80   d. 65 

 Explanation: Given options are wrong 

 
9 63

63 100 700
100 9

x x        Ans: 700 

 
11. (0.85% of 405) + (2.25% of 550) = ?  

a. 13.8175  b. 15.8175  c. 14.8175  d. 15.7150 
(405 ,y; 0.85%) + (550 ,y; 2.25%) = ? 
a. 13.8175  b. 15.8175  c. 14.8175  d. 15.7150 
Explanation: 

 (0.85% of 405)+(2.25% of 550) = (0.85×4.05)+(2.25×5.5) 
 = 3.4425 + 12.375 = 15.8175 
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12. Find the C.I of Rs. 15,625 at 8% for 3 years compounded annually  

a. 5058  b. 3058  c. 4058  d. 6058 
&. 15>625-f;F Mz;L tl;b 8% tPjk; vdpy; 3 Mz;LfSf;Ff; $l;L tl;b 
fhzTk;. 
a. 5058  b. 3058  c. 4058  d. 6058 

 
 

13.  In how much time will a sum of Rs. 1,600 amount to Rs. 1852.20 at 5% per 
annum compound interest?  
a. 1 year   b. 2 years   c. 3 years   d. 4 years  
&. 1600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; &. 
1852.20 MFk;? 
a. 1 tUlk;  b. 2 Mz;Lfs; c. 3 Mz;Lfs; d. 4 Mz;Lfs; 
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14. At what rate per annum will Rs. 640 amount to Rs. 774.40 in  
2 years. When interest is being compounded annually?  
a. 10%   b. 15%  c. 20%  d. 25%  
&. 640 MdJ ,uz;L Mz;Lfspy; $l;Lj; njhif &. 774.40 MFk;. $l;L tl;b 
tPjk; fhz;f. 
a. 10%   b. 15%  c. 20%  d. 25%  
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15. If 
4

5

x

y
 , then the value of 

4 2

7 2

y x

y x

 
 

 
is  

a. 
3

7
   b. 1   b. 

1
1

7
   d. 2 

4

5

x

y


 
vdpy; 

4 2

7 2

y x

y x

 
 

 
d; kjpg;G 

a. 
3

7
   b. 1   b. 

1
1

7
   d. 2 

 Explanation: 
 X=4  y=5 

 
4 2 4 2 5 4 4 6 4 3 7

1
7 2 7 2 5 4 7 14 7 7 7

y x

y x

        
               

        
 

 

16.  How many 
1

8
s are there in 

1
37

2
? 

a. 300   b. 400   c. 500   d. 600 
1

37
2  
vd;w vz;zpy; vj;jid 

1

8  
cs;sd? 

a. 300   b. 400   c. 500   d. 600 
Explanation: 

1 75
37

2 2
  

75 1 75
8 300

2 8 2
     

 
17. Simplify:  

2 2

4 4 4 4

x y

x y x y


 
 

a. 
2 2

x y

x y




  b. 

2 2

1

x y
  c. 

2 2

x y

x y




  d. 

2 2

1

x y
 

RUf;Ff : 
2 2

4 4 4 4

x y

x y x y


 
 

a. 
2 2

x y

x y




  b. 

2 2

1

x y
  c. 

2 2

x y

x y




  d. 

2 2

1

x y
 

Explanation: 

  

2 2 2 2 2 2

4 4 4 4 4 4 2 22 2 2 2

1x y x y x y

x y x y x y x yx y x y

 
   

      
 

18. The area of a circular field is 13.86 hectares. The cost of fencing it at the rate of 20 
paise metre is  
a. Rs. 277.20 b. Rs. 264  c. Rs. 324  d. Rs. 198 
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xU tl;l tbt ntspapd; gug;gsT 13.86 Vf;fh; vdpy;> xU kPl;lUf;F 20 igrh 
tPjk; mjd; Ntyp Nghl MFk; tpiy 
a. &. 277.20  b. &. 264  c. &. 324  d. &. 198 
 Explanation: 

 

Required Cost = 
20

1320 264Rs
100

   

 
19. One side of a rhombus is 10 cms and one of its diagonals is 12 cms. The area of 

the rhombus is  
a. 120 sq.cm b. 96 sq. cm c. 80 sq cm  d. 60 sq. cm  
xU ehw;rJuj;jpd; xU gf;fk; 10 nr.kP. kw;Wk; mjDila xU %iy tpl;lk; 12 
nr.kP. rha; rJu gug;gsT _______ MFk;. 
a. 120 nr.kP.2  b. 96 nr.kP.2  c. 80 nr.kP.2  d. 60 nr.kP.2 

 
 Diagonals of a rhombus bisect each other at right angles. 
 Let ABCD be the rhombus, Diagonal AC= 16 cm and side AB = 10 cm. 
 In right triangle AOB, AB = 10 cm, AO = 8 cm 
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20. The ratio of the area of a square of side ‘a’ and equilateral triangle of side ‘a’ is  

a. 2 : 1   b. 2 : 3   c. 4 : 3  d. 4 : 3  
‘a’ gf;fk; nfhz;l xU rJuj;jpd; gug;gsT kw;Wk; ‘a’ gf;fk; nfhz;l rkgf;f 
Kf;Nfhz gug;gsTfspd; tpfpjk; ________ MFk;. 

a. 2 : 1   b. 2 : 3   c. 4 : 3  d. 4 : 3  
Explanation: 

Required Ratio 2 23
: 4 : 3

4
a a   

 
21. There are 5 oranges in a basket of 25 fruits. The percentage of oranges is  

a. 5%   b. 25%  c. 10%  d. 20%  
xU $ilapYs;s 25 goq;fspy; 5 MuQ;Rg; goq;fs; vdpy; MuQ;Rg; goq;fspd; 
rjtPjk; 
a. 5%   b. 25%  c. 10%  d. 20%  
Explanation: 

The percentage of oranges = 
5

100 20%
25

   

 
22.  The discount is always on the  

a. Market price  b. Cost price  c. Selling price  d. Interest  
js;Sgb vd;gJ ________apd; kPJ fzf;fplg;gLtjhFk;. 
a. Fwpj;j tpiy b. mlf;f tpiy c. tpw;gid tpiy  d. tl;b 
Explanation: 

 

 
 

23.  _______ = Market price – Discount.  
a. Cost price  b. Selling price  c. Last price  d. Market price  
____________ = Fwpj;j tpiy – js;Sgb 
a. mlf;f tpiy    b. tpw;gid tpiy  
c. gl;bay; tpiy    d. re;ij tpiy 
Explanation: 

 Discount = Marked Price - Selling Price 
 Selling Price = Marked Price - Discount 
 Marked Price = Selling Price + Discount 
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24. Find 
 

 
 of 

1
2

5
  

a. 
11

20
   b. 

5

11
   c. 

7

20
   d. 

9

11
 

1
2

5
f;F 

 

 
  fhz;f. 

a. 
11

20
   b. 

5

11
   c. 

7

20
   d. 

9

11
 

Explanation: 
1 11 11

4 5 20
   

 

25. Leela reads 
1

4
 of a book in 1 hour. How much of the book will she read in 

1
3

2
 

hours?  

a. 
6

8
   b. 

5

8
   c. 

7

8
   d. 

4

8
 

yPyh 1 kzp Neuj;jpy; 
1

4  
gFjp xU Gj;jfj;ij gbj;jhy;> 

1
3

2  
kzp Neuj;jpy; 

vt;tsT gFjp gbf;f KbAk;? 

a. 
6

8
   b. 

5

8
   c. 

7

8
   d. 

4

8  

 
 

26. If 5x2 – 13xy + 6y2 = 0 then x : y is  
a. (2 : 1) only   b. (5 : 3) (or) (1 : 2)    c. (3 : 5) only   d. (3 : 5) (or) (2 : 1) 
5x2 – 13xy + 6y2 = 0 vdpy; x : y-d; tpfpjk; 
a. (2 : 1) only   b. (5 : 3) (or) (1 : 2)    c. (3 : 5) only   d. (3 : 5) (or) (2 : 1) 

 Explanation: 
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27. The sum of the series 1+ 3 + 5 +…….. to 25 terms is  
a. 600   b. 625   c. 650   d. 675  
1+ 3 + 5 +…….. to 25 cWg;Gfs; tiu cs;s njhlhpd; $Ljy; 
a. 600   b. 625   c. 650   d. 675  

 Explanation: 

 
 

28. Find out the wrong number in the sequence 125, 127, 130, 135, 142, 153, 165.  
a. 130   b. 142   c. 153   d. 165  

125, 127, 130, 135, 142,  153, 165 vDk; thpirapy; jtwhd vz; fhz;f. 
a. 130   b. 142   c. 153   d. 165  

 Explanation: 
 Prime numbers 2, 3, 5, 7, 11, 13 are to be added successively. 
 So, 165 is wrong. 

 
29. A rectangular tank contains 2340 cu.m of water is the depth of water tank of it is 

15 metres long and 13 metre wide 
a. 10 m   b. 15 m   c. 8 m  d. 12 m  
xU nrt;tfj; njhl;bapy; 2340 m3 msT jz;zPh; cs;sJ. mj;njhl;bapd; ePsk; 
15 m> mfyk; 13 m vdpy;> Mok; vd;d? 
a. 10 m   b. 15 m   c. 8 m  d. 12 m  
Explanation: Let depth of water tank be h cm 

Volume of Tank = 
2340

2340 12
15 13

l b h h m     

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30. Find the volume of a cylinder whose height is 3.5 m and diameter of base is 4 
meters  
a. 33   b. 22   c. 44   d. 55  
Xh; cUisapd; cauk; 3.5 m, mb tpl;lk; 4 m vdpy; cUisapd; fdmsT 
fhz;f. 
a. 33   b. 22   c. 44   d. 55 
Explanation: 

volume of a cylinder = 2 22
2 2 3.5 44

7
r h m       

 
31. A wheel makes 20 revolutions to cover a distance of 66 m. Then the diameter of 

the wheel is _________ m  
a. 1.05   b. 1.04  c. 1.03   d. 1.02  
xU kfp*e;jpd; rf;fuk; 66 kP njhiyT flf;f 20 Rw;Wfs; Rw;wpdhy; 
mr;rf;fuj;jpd; tpl;lk; _____ kP MFk;. 
a. 1.05   b. 1.04  c. 1.03   d. 1.02  

 

 
 

32. The smallest number by which the number 108 must be multiplied to obtain a 
perfect cube is  
a. 2   b. 3   c. 4   d. 5  
108I ve;j rpwpa vz;zhy; ngUf;f KOf;fzk; MFk; 
a. 2   b. 3   c. 4   d. 5  
Explanation: 
108 = 3 23 2  
To make perfect cube (multiply by 2) 3108 2 216 6     
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33. The number of zeros at the end of the cube of 100 is  
a. 1   b. 2   c. 4   d. 6  
100 vd;w vz;zpd; fdj;jpy; cs;s g+[;aq;fspd; vz;zpf;if 

 a. 1   b. 2   c. 4   d. 6 
 Explanation: 

  
3 6100 1000000 10   

The number of zeros at the end of the cube of 100 is 6 
 

34. 
18 14 6 8

?
488 4 20

  

 
 

a. 
1

2
   b. 

3

4
   c. 2   d. 4 

18 14 6 8
?

488 4 20

  

 
 

a. 
1

2
   b. 

3

4
   c. 2   d. 4 

Explanation: 
18 14 6 8 252 48 204

2
488 4 20 122 20 102

   
  

  
 

 
35. The fourth proportional to 0.2, 0.12 and 0.3 is  

a. 0.13  b. 0.15  c. 0.18  d. 0.8  
0.2> 0.12 kw;Wk; 0.3 cila ehd;fhtJ tpfpj rkk; _______ MFk;. 
a. 0.13  b. 0.15  c. 0.18  d. 0.8  
Explanation: Let Fourth Proportional be x. 
0.2, 0.12, 0.3, x 
Product of Extremes = Product of Means 

0.12 0.3
0.2 0.12 0.3 0.18

0.2
x x


       

 
36. Divide Rs. 675 among A, B, C in the proportion of 4 : 3: 6.  

a. 200, 205, 270 b. 190, 215, 270  c. 200, 235, 240  d. 180, 225, 270  
&. 675I A, B, C-f;F 4 : 3 : 6 rk tpfpjj;jpy; gq;fpLf. 
a. 200, 205, 270 b. 190, 215, 270  c. 200, 235, 240  d. 180, 225, 270 
Explanation: Given options are wrong 
If Given ratio 4 : 3 : 2 then 
675

45
9

  

 45 4, 45 3, 45 2 180, 135, 90     

 
37. A dice is thrown three times and its three different positions are given below. 

Find the number of the face opposite to face  
showing 3. 
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a. 1   b. 4   c. 5   d. 6  
xU gfil %d;W Kiw cUl;Lk; NghJ mjd; ntt;NtW epiyfs; fPNo 
nfhLf;fg;gl;Ls;sJ. Kfk; 3 fhz;gpf;Fk; vjpNu cs;s Kfj;jpy; cs;s vz;iz 
fhz;f. 

 
a. 1   b. 4   c. 5   d. 6  
 Explanation: 
In Dice (i) 3’s adjacent sides are 1 & 2 
In Dice (ii) 3’s adjacent sides are 1 & 5 
In Dice (iii) 3’s adjacent sides are 2 & 4 
Hence, 3’s opposite side is 6 
 

38. The mean of the first 10 natural numbers is  
a. 25   b. 55   c. 5.5   d. 2.5  
Kjy; 10 ,ay; vz;fspd; ruhrhp 
a. 25   b. 55   c. 5.5   d. 2.5  
Explanation: 

Mean of n natural Numbers= 
1

2

n 
 

mean of the first 10 natural numbers= 
1 10 11

5.5
2 2


   

 
39. Dilip can reap a field in 9 days, which Ram alone can reap in  

12 days. In how many days both together, can reap this field?  

a. 5
1

7
 days  b. 4

1

7
 days  c. 6

1

7
 days  d. 

36

8
days  

xU ntsp-I mWtil nra;a jpyPg;-f;F 9 ehl;fs; MFk;. mijNa uhk; jdpahf 
mWtil nra;a 12 ehl;fs; MFk;. ,uz;L NgUk; Nrh;e;J mij mWtil nra;a 
vj;jid ehl;fs; MFk;? 

a. 5
1

7
 ehl;fs; b. 4

1

7
 ehl;fs; c. 6

1

7
 ehl;fs; d. 

36

8
 ehl;fs; 

Explanation: 

Work Together = 
A×B 9 12 36 1

5
A+B 21 7 7


   days 
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40. A and B together can do a piece of work in 8 days, but alone can do it 12 days. 
How many days would B alone take to do the same work?  
a. 18 days   b. 19 days  c. 20 days   d. 24 days  
xU Ntiyia A, B ,UtUk; Nrh;e;J 8 ehl;fspy; Kbg;gh;.  
A kl;Lk; mt;Ntiyia 12 ehl;fspy; Kbg;ghh;. B kl;Lk; mt;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 18 ehl;fs;  b. 19 ehl;fs; c. 20 ehl;fs; d. 24 ehl;fs; 
Explanation: 
1 1 1 3 2 1

8 12 24 24B


     

B alone take to do the same work in 24 days. 
 

41. What percent is 3% of 5%? 
a. 15 %  b. 30%  c. 40 %  d. 60%  
5% ,y; 3% vd;gJ 
a. 15 %  b. 30%  c. 40 %  d. 60%  
Explanation: 

5 3 15
100 15%

100 100 100
     

 

42. The value of x where x : 
1

2
3

 :: 21 : 50 is  

a. 
1

1
49

  b. 
1

1
50

  c. 
49

50
   d. 

27

50
 

x : 
1

2
3

 :: 21 : 50  vd;w tpfpj rkj;jpy; x-d; kjpg;G 

a. 
1

1
49

  b. 
1

1
50

  c. 
49

50
   d. 

27

50  
Explanation: 

21 21 7 49

7 / 3 50 50 3 50

x
x      

 

43. If 
5

3

a

b
 , find the value of 

a b

a b




 

a. 4   b. 
3

2
   c. 8   d. 

3

2
 

5

3

a

b


 
vdpy; 

a b

a b




d; kjpg;G 

a. 4   b. 
3

2
   c. 8   d. 

3

2  
Explanation:  Let a = 5 & b = 3 

5 3 8
4

5 3 2

a b

a b

 
  

 
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44. The difference between the highest and lowest value of the variable in the given 
data is called  
a. Frequency  b. Class limit c. Class interval  d. Range  
nfhLj;Js;s tptuq;fspy; kpfg;nghpa kjpg;gpw;Fk; kpfr; rpwpa kjpg;gpw;Fk; cs;s 
tpj;jpahrk; 
a. epfo;ntz; b. gphpT vy;iy c. gphpT ,ilntsp d. tPr;R 
Explanation: 
Range = L – S 
 

45. Find the wrong numbers in the following series: 69, 55, 26, 13, 5  
a. 5  b. 13  c. 26   d. 55  
fPNoAs;s thpirapy; jtwhd vz;izf; fhz;f. 
69, 55, 26, 13, 5  
a. 5  b. 13  c. 26   d. 55  
Explanation: 

 6 * 9 = 54 + 1 = 55 
 5 * 5 = 25 + 1 = 26 
 2 * 6 = 12 + 1 = 13 
 1 * 3 = 3 + 1 = 4 But here it is 5. 

 

46. Complete the series:  

2 3 4

24 39 ?

20 30 40

 

a. 44  b. 49   c. 50   d. 56  

thpiria epug;Gf. 

2 3 4

24 39 ?

20 30 40

 

a. 44  b. 49   c. 50   d. 56  
 Explanation: 
 Column I : 220 2 24   
 Column II: 230 3 39   
 Column III: 240 4 56   
 

47. The pairs of equations 2x – 4 = 0; 4x + y+ 4 = 0 find the solution  

a. (2, -12)   b. (2, 6)  c. (2, 3)   d. (1, 3)   
2x – 4 = 0; 4x + y+ 4 = 0  nfhLf;fg;gl;Ls;s rkd;ghl;bw;F jPh;T fhz;f.  

 a. (2, -12)   b. (2, 6)  c. (2, 3)   d. (1, 3)   
 Explanation: 
 2x – 4 = 0 2 4 2x x     

 Value of x substitute in Eqn 2 
 4x + y+ 4 = 0 8 4 0 12y y         Solution (2, -12) 
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48. In the series 6 4 1 2 2 8 7 4 2 1 5 3 8 6 2 1 7 1 4 1 3 2 8 6 how many pairs of 

alternative number have a difference of 2?  
a. one   b. Two  c. Three  d. Four  
vd;w njhlhpy; xd;W tpl;l vz;fspd; tpj;jpahrk; 2 Mf ,Uf;Fk; N[hbfs; 
vj;jid?  
a. xd;W   b. ,uz;L  c. %d;W   d. ehd;F  
Explanation: 

 We proceed by checking the difference between pairs of alternate numbers i.e., 
 (6,1), (4,2), (1,2), (2,8), (2,7), (8,4), (7,2) (4,1), (2,5), (1,3), (5,8), (3,6), (8,2), (6,1), (2,7), 
 (1,1), (7,4), (1,1), (4,3), (1,2), (3,8), and (2, 6).  
 Of these, the pairs with a difference of 2 are (4,2) and (1,3).  
 Clearly, there are two such pairs. 
 

49. Rahan ranks seventh from the top and twenty sixth from the bottom in a class. 
How many students are there in the class?  
a. 31   b. 32  c. 33   d. 34 
xU tFg;gpy; Nuhfd; NkypUe;J VohtJ juj;jpYk; fPNoapUe;J ,Ugj;jp MwhtJ 
juj;jpYk; Njh;r;rp ngw;why; me;j tFg;gpy; cs;s khtzh;fspd; vz;zpf;if 
vt;tsT?  
a. 31   b. 32  c. 33   d. 34 

  Explanation: 
 Total No.of students =7 26 1 32    
 

50. A can do a piece of work in 20 days and B can do it in 30 days. How long will 
they take to do the work together?  
a. 12 days  b. 14 days   c. 16 days   d. 20 days  
A vd;gth; xU Ntiyia 20 ehl;fspYk; B vd;gth; mNj Ntiyia 30 
ehl;fspYk; nra;J Kbg;ghh;fs;. mt;tpUtUk; Nrh;e;J mt;Ntiyiar; nra;J 
Kbf;f vj;jid ehl;fs; MFk;? 
a. 12 ehl;fs; b. 14 ehl;fs;  c. 16 ehl;fs; d. 20 ehl;fs;  

 Explanation: 

Work Together = 
A×B 20 30

12days
A+B 50


   
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